MIS 3200 Networking Fundamentals
Internetworking Exercise 2
Consider the local area network shown in Figure 1 below. 
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Suppose that the bridging tables are as follow:


Assuming that the switch has been in operation for while, what computers and internetworking devices will receive the message if the following stations transmit?

1) Workstation 1 sends a message to workstation 2
_______________________________________________________________________

2) Workstation 2 sends a message to workstation 3
_______________________________________________________________________

3) Server 1 sends a message to workstation 3
_______________________________________________________________________

4) Workstation 3 sends a message to workstation 1

_______________________________________________________________________
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